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APPLICATIONS WITH PARABOLIC FUNCTIONS
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bseagebra1 8.10 - Quadratic Word Problems Notes

We are going tosolve word problems. For most of them you can use the quadraticformula. Be sure that each equation
is cqualto 0 before yousolve.

1) Arelef package s celpasedfroma helicopterat 1600 feet.The helghtof the package can be modeled by the.

cquatig ¥+ 1600vhere his the heightof the package i feet and t s the tim inseconds. The pilot
wantsto KAGWROWRGAETE il take for the ppeage to hit the ground.
Whatisthe equationthatwe are using here: ~ 5 Solve using the quadrati formuia.
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‘What i the equation that we are using here:

Solve using the quadratic formus,
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